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ouestion Label : Multiple Choice Question

Probability sampling is otherwise called :

T 9iaeel &l AT ol 2

Options:
Multiple choice

% qgfdhcdly =g

Uni-variate _.i"uml}'s.iz
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A Research Report is a formal statementof .............___.

TH I RO ., T Teh UG (G0N0 B |
Options:

Rezearch Process

| AT Uiha

Research Problem

5 # STAE A

Data collection

3. % :H.I-"]"El '\_:l.__.]. EI:I



Data Editing

4 W \_.E L' '\_;ié-é.:"
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is not covered under Intellectual Property Rights ?

fa=fafiaa § 9 & difge duer AfTent & Iiaid Jafamar g ?
Options:
Copvrights

;. & PIURIEC

Patents

> % dcc

Trademarks

r

o W 5:1‘5 [

Thesaurus

. forefey
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A bar chart or graph which shows the frequency of occurrence of each value of
the variable which is being analysed is termed as :

T TIT‘r AT UTH Wl IN o Ul HIF hi U & Dl Erll"ﬂl"‘l G CEEI] Er SEED
a9yl fohd _"IT?TE'TE’ Pl HEl I ?T.
Options:

Bar chart

| % W9 AT & w9 H

Histogram
5 Hifeirias & wU H

Candle stick
3 % Do Ne® & w0 4



Tabulation
4% R & w9 H
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The depth of research can be judged by :
Tl W1 TExTs H1 SEToll SHY ST ofl Gehal @

Options:
Title of the research work

% UE B B NS

Objective of research

o o T @ T

Total expenditure of research
- x I BT B T

Duration of research

4 % T @I 3@ty
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The mean of a set scores is 50 and standard dewviation is 10. If the score of each

student is doubled the new median will be -

=T AHI B AeF 50 8 AT AFF FEed 10 £ 1 AT USE B B APl B Gl
& {591 oirg, 93 AT

Options:
Remain unchanged

| RS v

Increase by double
2. '\‘?’? E: g—l_l—ér E"\-ljﬁ

Decrease by half
5 % T HH BFA



Become equal to the mean

4 % T F AER EE
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is net a type ot research question ?
=1 § 9§ B U U2 &1 UBN T8l 7

Options:
Predicting an outcome

% ORUTH @1 Afasgari

Evaluating a phenomenon

o % Tl B Hegldh

Developing good practice

5 % IS URAT BT IG1I

A hvpothesis
4 TP TRHTA
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

All of the following are types of non-probability sampling techniques except :
e # 9 9 IN-uifiredr ufaeel daqle @ JaN & g9

Options:
Purp os1ve samp ling

| w AT AfaSE ®

Snowball sampling

o % VATl gfee @

Convenience Eampli:ng

5 % giaar ufoee &



Random Eamp]_mg

4. diglzgdy Mldg=l @

Question Number : 9 Question Id : 7622115309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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Cuestion Label : Multiple Choice Question
To test null hypothesis, a researcher does nof use :
T YRNEHT & WAV HRA 8g SJEaHdHal 7 § 9 fhesr 9ar 98 s 8 ?
Options:
Chi-square test

s DTS-I TRIETTT

1.

t-test
o % CIOVIE

ANOVA
3 % T

Factorial analysis

4 AT fagero]
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uestion Label - Multiple Choice Cuestion

P-alue stands for -

Tlo Ho& &1 AU 2

Options:
Probability value

1.Jmﬁﬂww

Preference value

E_Qaﬂ?ﬁﬂﬂw

Pre-determined value

_ Ja-T-i¥aa 7Jed



Prescribed value

L% BENECE &
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In the process of conducting research "Formulation of Hypothesis” is followed
by :
FTHET B DI UlhAT H “URSBTAT & AP & g a1 HIar B :

Options:
Statement of Objectives

| w 9aazdl T faaee
Analysis of Data
o w dids BT fwer

Selection of Research Tools

o o ATHET AEET BT T8

Collection of Data

, & SNPS T HIE
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Longitudinal studies of cohort groups .........._. ]
S TRl BT AFas AT €

Options:
Study the same people over time

| % BY FHI W Uh B AN BT T

Use panel members as particip ants

o x AFER & W0 § U Haei &1 STar

Study attitudes at a single point in time

3 % TP I W GCHIT B Fena




Use different participants for each sequenced measurement

L  TI® STHHAT AT 7 A= AFERT B ST

Question Number : 13 Question Id : 7622115313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

A deductive theory is one that :

! - [ i

e g ©

Options:
Allows theory to emerge out of the data
| % Sl RIgid & Siids A o~ 8 o @

Involves testing an explicitly defined hypothesis

o o TSTH RO AT GRAITT IRGCIT BT TR Wi 8

Allows for findings to feed back into the stock of knowledge
5 % [OTIPT SETY g §M & H9g H ufayfic &g ey g

Uses qualitative methods whenever possible
4 % Ol ofd 01 9T B [UIAS TGd BT HANT Bl ©
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Meta data is the data that :
ATl ST 98 SIeT & ol

Options:
Distribute other data

% o4 SICT &l dicdl 8

1

Collect other data
5 % I STCT BT THT BT

Describes the other data
5 « SICT &I Fadr &

Destroy the data
4 % SICI @ & Sl 8
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

FEandomization iz done to :
i Sh
ATGEFHIHIVT Bl ATl 2

Options:
Increase bias

| % IFART B1 9@ & ferg

Reduce bias

o  SAAT @ HH B T ferg

For making hypothesis

3 % UREAT TR & oy

To increase drug efficacy

4 % S e B S & fov
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Data is represented in form of notes, recordings and video tapes in :

ATpel I Alc, ¥PHIeT Ud difedicd & w9 § fAwud f&ear o g

Options:
Qualitative Research

| o TS IFTHE H

Quantitative Research

o s WRATIIES JTHE H

Experimental Research

5 % TARTICHG e H

Descriptive Resea rch

4 % dUHTCH® SFTHET H
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Cuestion Label - Multiple Choice Question



Grounded theory is often used in formulation of :
qTSSS LRI & G4 gfaured H agen fhan wrdn 2
Options:

Policies and Programme evaluation research

| o N Ud BRISH Jedih STJHaH &

Opportunity for exploring the facts

o % T BT UAT T TG JTH S

Categorizing data

o R

Understanding the culture

4_%% P GHSH B
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Read the statement A and B and choose the correct option :

BT $ Td G BT Iy 7241 el fabeq gy

Statement A : Variables can be manipulated, controlled or observed by the
experimenter.

FYT F : TN DI TAFTHGT 59T B H amEn, FEEa o sadifead fRar 9 9dar 2 |

Statement B : Variables are not related to theoretical concepts.
HYT | : W AGIAd Faurons | Hafed Tl €|
Options:

Both the statements are true

, % T I TG €

Statement A is true but B is false
o  PIT B T ¢ fbeg P & 9T 2

Both the statements are false

o % G DU IEA T

Statement A is false but B is true

4 % DIT B GG ¢ fbg HUH G A 2
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not a category of legal research ?
Tfaad # HE-A1 AfdE o 3 G0 # A% A 57

Options:
a parasitic discipline of law
| o TEEE T @ ET A

a practical discipline of law
o % AN 9 T =T H

an aspect of the humanities
¢ HFEEH] & U U b =9 H

=

an aspect of social sciences
4% HHIE 95 & 95 & =9 H
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Rejection of null hypothesis when it is true is called :
9 B8 ®i [Refa ¥ 990 dN&Gog=T &l 3 -:_F»r’;d T FHEAal & 7

Options:
Type Il error

, % c8u IMFfe

Type Ierror
o o C -qE - Ia—ﬁr

Sampling error

.y TR 3

Standard error

4 % AF® e
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Couesticon Label ;- Multiple Choice Question



In a research study one of the variables selected was (students’) parents’
occupation such as business, farming, service etc. What level of measurement is
this ?

"HTHI HEIE H FAMG U 9 J1a1-0dT $1 dErd oY IR, Wdl, 9al gy |

Options:
Nominal

T

T

"

Ordinal
2. W a ] H Qﬂ- a ':-] ]

Interval

H-aO¥l ¢
o R

Ratio
4 % I3
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is standard error ?
Options:

Standard deviation of the sampling distribution of a statistic
. A=y & giaeyl g & J1d a9

Modal error value of the standard range of a statistic
5 % WIRGHT & JH® 4ol & HJisd Jic A

Error in the calculation of standard deviation of a statistic
o x QO™ @ A e @ T H Ffe

Standardized statistic to minimize error

4 % 3C PP I & [0 ADIFT HiDEI
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is helptul in determining sample size ?
UfASel TR & MR & § 94 ¥ 9 &4 9896 & 7

Options:
Ruszell 2000 index
| w <H 2000 FABID
Cochran's formula
HIhv &I -9
o o

Tussad's formula

o x Qg @

Spearman's formula
4 % TIHT w1
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following is not true about the case study method ?
‘FTH AFEE A AR H Ffanad # " #9998 57
Options:

It is an expensive method of research

There are many chances of making errors

fe 8M & 9gd d49/EA1 =2l B

=]
-

[t is mainly qualitative in nature
% 5 FEATAT OHE BT B

It is quantitative in nature

4Ju:mm—qtrnrumml 5
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Read statement A and B and Choose the correct option :

BT & Ud @ BT UgU TUT Wel fadded &1 FA1d PIfeIT :

Statement A : The Latin square design has an advantage over randomized block
design because it is possible to control the effects of two secondary variables.

YT & : olfcd EEER fSuE agfes o fsusd 9 s ameEds & @il
Tg g1 T =R F UHE BT EEd $ H W 2

Statement B : A 2 x 2 x 2 factorial design has six independent variables.
YT G : U 2x 2 x 2 HHMG feus- 4 B8 Wad =@ 8 2 |

Options:
Both A and B are true

lgmqﬁaaﬁrw%

A is true and B is false
5 @ P AT T A W FEA T

Both A and B are false
5 % & Ud & Al o ©

A is false but B is true
4 % P I € AP @ WA @

Question Number : 26 Question Id : 7622115326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple CThoice Cuestion
A researcher is invstigating teacher's attitude towards year-round schooling. She

is particularly interested in describing the attitude of teachers from small,
medium, and large schools. Which sampling procedure should be used by her to
ensure her sample is representative of these types of schools ?
U AJHUMEHT g4 WY el @& Ul HeATUS & AAgRT Bl AU HR I8 2| 98
B, T dAT g5 Wholl H el © AAgRy & < § 99w &y ¥ foo=al o
el gfcifeeg & HJd ?
Options:

Cluster

1 % qE

Quota
2 % ®IC



Systematic

3 % \‘\_.- Ol ¢

Stratified
4 v WG
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following tvpe of research focuses on amending the prevailing
situations ?

=1 9 9 {59 IR &1 FgHu A RIfadr o1 Gune iR Saiad e g 7
Options:

Action research
| o SPATAE STFxEr

Experimental research
o % WATTICHE e

Fundamental research

= ® ﬂ: 1:" EHTTETH

Conclusive research

, x (ORI ST
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If there are eight categories or classes in a goodness of fit test, what will be the
degree of freedom ?

i [e9 A e <% d e &l O & €, a1 W=y ®ifc @1 B8R 2

Options:

1.*8

7

e



Cannot tell on the basis of the information given
4 % &8 T FHGR & AER O 94197 e S qehal g

Question Number : 29 Question Id : 7622115329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Qualitative research helps in collecting data under more ..........._. situations.

qUITCHS STJHE b fRerferal 3 Siferel Uiz R H Weradl &Yl ¢ |

Options:
Normal

1. % Lo

Natural

5 -\‘;,’? ﬂ E]:S E‘_ 'E:I:S

Experimental
5 % HANTTA®

Artificial
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Read statement A and B and choose the correct option :

YT B Ud @ F IigU TAUT Wl faded vy

Statement A : A case study can be used only in clinical psychology.
YT B : 71 AT (BH ITSI) BT WA hael faer-iad AT H fHar &1 |l
=4

Statement B : The approach of case study is based on the artificial atmosphere.
YT G : g1 AT (W ¥CSl) B glehv HiEH JRe IR A= 2 |
Options:
Both A and B are true
, % U @ EH U

Statement A is true and but B is false

o % DY P U B b O HEA &




Both A and B are false

Statement A is false but B is true
4 % BT P A ¢ olfh] & §F ©
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which tvpe of research focus on what will be ?

fehe UehTY 1 STTHI &1 BT R BIdd Hecl 8 7

Options:
Experimental

1, o TS

Case study

, % 99 A (P ITH)

Survey

5 % Hae

Ex-post facto
4 % q9 T
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the following should be up to date, complete and affordable for proper

sampling ?

=1 3 9§ ®F Sfag dfaey 2q sterdd, QUi 91 §9a 2 =@1iey ?
Options:
Sampling technique

| x TRE" TE

Sample frame

2_‘&? HE'H\ ;*T‘El-



Reszpondents

5 x AR @ A

Tools for data collection

4%31‘#@@3?@@%
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What is a research design ?
ATHI e F 7

Options:
A way of conducting research that is not grounded in theory

1%a§ﬂmﬂﬁﬂﬂﬁ‘ﬂ1ﬁﬁ@ﬁﬁmﬁﬁﬂﬁg

The choice between using qualitative or quantitative methods

o % TS T4 ORHETUTCHS Tgiadl &1 TR $HY- & 9" faded

The style in which you present your research findings, e. g. a graph

5 % Joit fSTEH 31T SIT e e sieid T BT Igd BYd ©

A framework for every stage of the collection and analysis of data

4 o ATBST & AT T HIE & FAD YA TG Il
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

It a study is "reliable”, this means that :
Ofe gy fdgaa-my é’ s Hod g b

Options:
It was conducted by a reputed researcher who can be trusted

IE Hidfted SHeGal g &1 Widl 2 o WX faward fear o ¥aar €

1 &

The measures devised for concepts are stable on ditferent occasions

, o SRS o Bferd Surr fafi= sraest w Rer 2@ @



The findings can be generalized to other social settings
o [TSRY DI 3 WAME TR & fu aeriigd fBar o wear 2

=3
The methods are stated clearlv enough tor the research to be replicated
A% I B ufadfa {6 o 2q usfaal o1 W w | udid qardr 147 2
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Ethical norms in research does nof involve guidelines for which of the following ?
ST J Aifquwes JE J e H fege fou feen-fae wide 98 @ ?

Options:

Thesis Format

L  JE HaE U

Copvright
o % PHNIEC

Patenting policy

5 % NoC

Data sharing policy

4 % \_,E [_,l \]\*-l-q“] ;” k

Question Number : 36 Question Id : 7622115336 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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uestion Label - Multiple Choice Cuestion

_________________ is not a source of Hypothesis.

_____________________ NI &1 Udh Hid 7&f 2 |
Options:
Intuition
. % Heul H[E
Knowledge

2IWEI'I_"T



Energy
3 '\‘:5? '-.?_. ATl

Theorvy

|

4 % 194
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following variables cannot be expressed in quantitative terms ?
Frefeiad 4 | (59 =R @1 AEHS sl 4 ad el fhdl ol dadl 8 7

Options:
Socio-economic status

| % HITSTS I Rerfd

Marital status

, x AT Refa

Numerical aptitude

2 arE el iR i

Professional aptitude

L % TIER AR
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Cuestion Label @ Multiple Choice Question

Which of the following is not a citation style ?
faefefag § 9 o9 s 3= faf 98f 2 ?

Options:
APA.

1@?0&[0:{0

MLA.
- UHo Uelo To



Chicago

b

5 % 1

Ohio

4 )

Question Number : 39 Question Id : 7622115339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the following is not a defining characteristics of non-doctrinal research ?
frfefaa & & = fe-Haifas ol @ afveias @ 981 & 7
Options:

It is organized around legal principles and appellate court decisions.

= S

o5 fattes =t 3T AJAUeE SJEed & Al @ =9l aiw

It puts lesser emphasis upon doctrines.
, x T8 MmOl 9T HH 9o Gl B |

It seeks to answer broader and numerous questions.
, » 97 378 UFG S UL & ITY WA BB HIAT F |

It may involve the use of research tcn:r]s. and perspectives not pecu]mr to law.
SHH UHT 90e A AN GChvT Tgad 81 ol 5 511 Hdal did 96

4 % HITAT B B E |

Question Number : 40 Question Id : 7622115340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not true about positivism ?

frefafaa § 9 & vemefare (@fsfefes) & ddg § a2 78 2 ?

Options:

It is associated with Auguste Comte

| % TE I B B AT JST &

It denies metaphysical speculation

> % U ToauIHIGD ChHAdToll B gae dYdl @




It emphasises on objectivity

L % € IRGMSAT W WR < @

It iz a method used in qualitative rezearch

» IF U faftr & e war e e H Ear 8
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Question Number : 41 Question Id : 7622115341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Caestion

The primary qualities that make accounting information useful for decision-
making are :

HAYT 0T I A BT At b1 Foia & forw SuandT a4 €

Options:

Comparability and Consistency
| % el Ug =Naed]

Materiality and Timeliness

o s WTRRAT Ud AR

Relevance and Reliability
R A IGIUE LI CREECEBIER]

Comparability and Reliability
4 % TeAATABTT UF I




Question Number : 42 Question Id : 7622115342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

Net profit is retlected in higher net worth and net loss is retlected in lower cash
balance :

7€ oY 9eEmR € 0 A ufafefea B ' dur g B e es 9 o
gferatad 2l &

Options:

First part true and second part talse
1 U U O Ud o9l 91T 3

First part false and second part true
o s VIH I 3T Ud NI 91T 9

Both parts are true

Both parts are talse
4 % S AT 3

Question Number : 43 Question Id : 7622115343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Match List - T with List - IT and select the correct answer using the codes given

below the lists :

el - 1P Al - I F 919 GAT DIfaC IR giadr 3 9" €0 T w2 &1 94

B U WEl Y DI T PITAC

List-1

(Item)

gl -1
(7<)

A Accounting for Fixed Assets

W AR & o0 of@ie

B Valuation of Inventories
WhE] BT oA P

C  Cash Flow Statement
Ihe UaTE faawm

D  Depreciation Accounting
BT ol

Options:

Codes :

HIE -

A B 5 D
. 4 3 4. 1

Codes :

Fle :

A B i D
5 % 1 2 3 4

Codes :

HIE :

A B & D

2 3 4 1

= W

(]

List - IT
(Accounting Standard)

qET - 11
(TP yH)



Codes :

FIE :
A b " B

4@4 2 1

(]

Question Number : 44 Question Id : 7622115344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

The difference in fixed and variable cost has a special significance in preparation

of:
IR Ud gREETe Ad H 3R U (9919 H8<d Y@l 2. 991 H
Options:

Cash Budget
1. % IPs gulc

Static Budget
2. % IR aWc

Flexible Budget
3. ¢ EMEeR 99l

None ot the three

4 ®% AHH ¥ BIS TE

Question Number : 45 Question Id : 7622115345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion



The current ratio of a company is 2 : 1. State in each of the following cases,
whether the ratio will improve or decline or will have no change :

TH HHAT BT Aol JUE 2 : 1 8| 909 & 79 0=d 30 F AT GENdn q
BT BT AT DI URIGA S8l BN

(A) Payment of a current liability
AqTe] TR BT HITT

(B) Sale of motor car tor cash at slight loss
I B O¥ I[FS & o0 AeY B F [G95d

(C) Cash collected from customers
TED! T Ve TIET

(D) Borrow money on an interest bearing promissory note
ATl Wied 999 U9 W U9 9UR o

Options:
Codes :
FE -
A B C D
Improve Improve No change Decline
Lo g GO @IS UNEde & 26T
Codes :
B :
A B C D
Decline Improve Improve No change
. % el
Codes :
FE -
A B 8 D
No change  Decline Improve Improve
BIE UNacd BN B GENATT SR
el



Codes :

B :
A B < D
Improve Improve Improve Decline

4 #

Question Number : 46 Question Id : 7622115346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

How manv schedules are in the Balance sheet of a Banking Company ?
AR HHE & fHee H o a9 © 7
Options:

1.«2310

o v 12

Question Number : 47 Question Id : 7622115347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Fixed cost per unit decreases when :

frew &g ufd s H Bidl § od
Options:

Production volume decreases
1. % JdIed AT °9<dl &

Production volume increases
> « JdIGA A9 dadl &

Variable cost increases
= ®% gNgOAgle od dddl &




Variable cost decreases
4. % RGNS ATTd dedl &

Question Number : 48 Question Id : 7622115348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the tollowing is correct ?

= %9 39 wer e 7

Options:
Gross profit + Sales + Direct expenses + Purchases + Closing stock =
Opening stock

1. % Whel o + [T + Uel @ + 4 + A BT = IRME e

Gross profit + Direct expenses + Purchases + Closing stock — Opening stock
= Sales
2 % Whol W9 + UET T + g + ATH TROA-URIBE YR = T8

Gross profit + Direct expenses + Opening stock + Purchases + Closing stock
= Sales
3 % Vel ol + Hoel 2 + URMEH TEAA + HI + AfH B = {96y

Gross profit + Direct expenses + Purchases + Opening stock —= Closing stock

= Sales
4 ¥ Whd ATH + USOET @1 + &d + UWNTRIG Ve - a1f~a9 veioar = faaa

Question Number : 49 Question Id : 7622115349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice Cuestion

Selling price per unit ¥ 9, Total fixed cost ¥ 63,000, Variable cost per unit ¥ 6.
What is the amount of break-even sales ?

[qehd o Ui Shis T 9, Hol NeR &d ¥ 63,000, RE=Eel drTa ufd g@1s 6,
wAfaoe O &1 9T = B P

Options:

| % T 84,000

- % 21,000

= % 63,000



4 + 31,89,000

Question Number : 50 Question Id : 7622115350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Match List - I with List - IT and select the correct answer using the codes given
below the list :

Al - 10 T - I F AT GAAd SIhay 3R Jadr & = (6§30 T w2 6 FAn
Y B WET BTN D A9 BT -

List-1 List-II

(Term) (Type of Asset)

T - 1 T - 11

(7g) (FHRT BT gPR)
A Amortisation 1 Land

=2

B Depreciation Building
Bl HdAq

C  Appreciation 3 Oil well
D  Depletion 4 Patent

EToTe e
Options:

Codes :

BIE -

A B C D
. 4 2 1 3

Codes :

PIS :

A B C D



Codes :

HIe :
A B C D

Lid
-
e
[ ]

3 ®
Codes :
HIe :
A B C D
1 2 3 4
4 %

Question Number : 51 Question Id : 7622115351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
What is the cost of Goods sold ?

O & {9 ST A g &1 & 7

L4

Cost of production 1,20,000
JTed D AT
Stock of Finished Good :
=fHa A @1 vefoar -
Opening 20,000
PIREEER
Closing 10,000
Work-in-progress :
qre], B :
Opening 7,000
PIRESER
Closing 13,000
3=TH

Options:

1« < 1,30,000

> % ¥1.24.000

5 % T1,14,000



4 % ¥1,10,000

Question Number : 52 Question Id : 7622115352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Profit as per cost books 1s ¥ 70,000. It ¥ 5,000 of interest on debentures has not
been shown in financial books then what will be the profit as per financial
books ?

AT YWIDl & FTAR o9 I 70,000 1 AfE AT gt d ROTH W @
< 5,000 7 few@rn =y 27 a1 90 Qd! &1 AW F 1 861 7

Options:

1. % T65.000

z « 70,000
3. % ¥75.000

None ot the three

4 % S OH W B

Question Number : 53 Question Id : 7622115353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Caestion

While calculating tunds from operation, which of the following items 1s
deducted from the net profit :

RS e e e B Y s e | s 7 e = B = e = B == = e o 7 ) i 1= = B3 P | G | S
Options:

Loss on sale of fixed assets
1 % IR 9 @ f9a W g8

Non-operating income
o TN-HATAT AR

Depreciation on fixed assets

2 % T HER U9 B0

Nomne of the three

4H£:|xﬁ-ﬁa’7\|_53:|ﬁ



Question Number : 54 Question Id : 7622115354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Valuation Balance sheet is prepared in case of :

Jedie s 99mar Jhr €
Options:

Banking Companies
1% dfepTT AT & HAE=T H

Government Companies
5 % ENPN] AT B T H

Lite Insurance Companies
3. GildA §H1 $EN B g

None of the three
4 % TEIH W ®ls A81

Question Number : 55 Question Id : 7622115355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Debenture holders are the :
TN &
Options:

Customers of the Company
1 % BT & ATED

Owmers of the Company
o % HEA B AfCAD

Creditors of the Company
3. ¢ BT B ol eR

None of the three

Question Number : 56 Question Id : 7622115356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



Net Working Capital refers to:
ST PIIES UGl W 3§
Options:

Total assets = Fixed assets

L % EE_.?[ ,-_\ -: s _ Q'J-'_‘l T i~ -l‘ )

Total assets — Current assets
> % Tl TNTARA - el TRl

Current assets — Current liabilities
3 v Tl TRl — Ale], aT

Current assets = Inventories
4 % TTe] UREARIT - Efaa

Question Number : 57 Question Id : 7622115357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

Which of the following is/are the assumptions underlyving Modigliani and
Miller Model ?

i R | s e 7 s 1 8 o s s M e [ L= 0 e s 2 =

Options:

Capital markets are pertect
| % Uofl a9 WETd 8

Investors are assumed to be rational and behave accordingly
> % Tafared® fadmeieT 8 a1 39 & I99N €8N &3 8

There is no corporate or personal income tax
3. % TR AfFTTT $R T8 €

All of the three
4 AN H HHT

Question Number : 58 Question Id : 7622115358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Zuestion Label : Multiple Choice Question
Dividend Pavout Ratio is equal to :
STHTET I 391 g96Y €
Options:




dividend vield plus capital gains vield
| % TIETET + JoIlTd oy

dividend per share divided by earning per share
= qll \ﬂp.\ AT .\ f";lf. H&T SIS IR

dividend per share divided by par value per share
3. % JIT ST ArIEr/Aia 3 f[4ied 9o

dividend per share divided by market price per share
4 % Ui 31 A9Ie/AfT 39 99N Hed

Question Number : 59 Question Id : 7622115359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Financial risk is mostly associated with :
[T WTRTH WA= g 2
Options:

use of equlh tinancing by the Lmnpameq
1 ® FAAl BT Hdel FHAT 32T Lidl T SYAN]

use of debt financing by the companies
> o FAFAT BT Tdel L q& H IUAN

use of preference tinancing by the companies
5 % BTl BN Hdel TaEa®™ e Yol & 50T

use of retained earning financing by the companies
4 % G W Sdel T 3T &1 TA0T

Question Number : 60 Question Id : 7622115360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The type of risk is avoidable through proper diversification :

AT 9 @ fhar JH arer Jfay & 6 2
Options:

Portfolio risk
1. % HfgumT ey




Systematic risk
o % HHAg SIIaH

Unsystematic risk
3. ¢ hAdE i

Total risk

Question Number : 61 Question Id : 7622115361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Proposal is accepted under Net Present Value (NPV) method of capital
budgeting when :
UGl @oed & I[E a9 qJed (NPV) USfd & 3I=1id Udid Wigd {har ol g
g
Options:

NPV is zero
| % 3E 09 qed (NPV) I &

NPV is negative
> % I a9 Hed (NPV) ThRIE 8

NPV is positive
5 v & TOEE e (NPV) hRIAS 2

NPV is infinity
4 % I[E 909 qo4 (NPV) 39 &

Question Number : 62 Question Id : 7622115362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

The value of EBIT at which EPS is equal to zero, is known as :
EBIT &7 Hed fo X EPS I[F a1 &, WAl il & :

Options:

Production Break-even point
| % Jared 99 fawoe 9=




Financial Brek-even point
o « 1O a9 fa=eg i

Operating break-even point
5 % URNHAAd 94 fa=og fd

Overall Break-even point
4 * U 99 f=os 4=

Question Number : 63 Question Id : 7622115363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which of the tollowing is identified as money market security ?
Frefefad § 9 SE-91 q&T ara $ Jfo4fd & w9 | AJ@ o6l © 7

Options:

Equity share
1. % THIT 330

Prefterence share

o % AP 7T

Debenture
ST ] R U-UHA

Commercial Paper
4 ATIING fau3

Question Number : 64 Question Id : 7622115364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Under which of the following approach, cost of equity capital is supposed to be
constant with the change in leverage ?

e ST & id dlayel @ TNaad W FHar Yol @1 N N A4 3Tl & 2
Options:

Net Income Approach
1. v W& I G



Modigliani-Miller Approach

5 % ACITATI-aae gita®hm

Net Operating income approach
3 % Yg URTHR 3 gfedhor

Traditional approach
4 % TNRNMTE il

Question Number : 65 Question Id : 7622115365 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

According to Black scholes model, purchaser can borrow traction of security at
risk free interest rate which is :
&l Whied died & AR Hal Ui & 4T B FiEd Yed &ard g% R SUR o

TRl & FHT Al §
Options:

short-term

1.« 3D RiE

long-term

o % o -j GArGIE

transaction cost
= % oG B A

no transaction cost
4 % TG ] AN A8

Question Number : 66 Question Id : 7622115366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Option which can not be excercised before an expiry date 1s known as :

affer A1 |t fafer W qd g 921 fda A € AE Arm g
Options:

American option

1. % NG =



European option
o  GRITUT AT

Australian option
3. ® JRCfaay i

Nomne of the three

Question Number : 67 Question Id : 7622115367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Discounted cash flow analvsis is also classitied as :

dSrR]ad Ade HdE a9y aiied Far 9T 8
Options:

Time value of equity
1. % VIHAT &l FHIT Ho

Time value of bonds
o 8 dUsd th] HHY Hedl

Time value of money
3. o HAGl ® HHY Hed

Time value of treasury bonds
4, % U VS B THI o

Question Number : 68 Question Id : 7622115368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The prime objective of the financial management is supposed to:

a9 va=1 % 9% I3 A4 JAdr B
Options:

Maximise revene
| % 3T BT HARIBTH BT

Minimise cost
5 % SIA B AT FEA]




Maximise wealth of the owners
3  HEAl BT Fdl & ATHaH Hr

Maximise protfit of the concern
4 % AT & AT Bl AfHTH AT

Question Number : 69 Question Id : 7622115369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

CAPM model stands for :
CAPM #isd & :
Options:
Capital Asset Promotion Model
1. % e THS UTHETT 3=

Capital Asset Pricing Model
o HIYSH UHE WS Hied

Capital Asset Product Model
3. * Dy THe Urede Hfse

Capital Asset Profit Model
4 # HITel THE Uit #isd

Question Number : 70 Question Id : 7622115370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Couestion Label | Multiple Choice Cuestion

Average cost of capital of a company is the :
[T RET B YT Bl SHTHT AT €

Options:

average cost of equity shares and debentures
1. % [ ? T,—I":'EJT Ty .._'\T E':%T :,.-. .\ =

average equify and preference shares
5 % WHAT AT AT YafoRER 390 @ 3iGT arTa

average cost of equity shares and all sources of long term funds
3 TH YOIl qT STeeTel= Uoll @& FHE widl @1 3T AnTd




average cost of short term tunds
4 % JFAPrel [l o7 Aad anTd

Question Number : 71 Question Id : 7622115371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

Employment Exchange Agencies are concerned with :
AR FRITATET Udi-aa] € a1 iy JEi=d g o
Options:

Recruitment

1« 9ol

Selection
o ® T

Placement
= % Uy

Induction
4 % HTTHA

Question Number : 72 Question Id : 7622115372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

"Take my phvsical assets, leave myv people and in five vears I will have 1t all
back.” Who said this statement ?
EHRI WHE e WE of 9L W BHeNGl B Bl &, H Ur" gy P 3w A0
AT T T8I WTUg B o7 |7 U8 wYT foad &l 7
Options:

Bill Gates

Alfred Solan
oo Q:\;ﬁa@) \'zlx ol

Michacl Jucious
5 % HIShel G gTH




E.F. L. Breach
4 % To Uho Udlo AT

Question Number : 73 Question Id : 7622115373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice Cuestion

Human Resource Planning is essentially meant for ensuring :
A1 AT T @ 3 stiErd WU 9 gieEed e 8
Options:

Promotion in time
1. % WHg UV Tereid

Payment of wages and salary in time

5 % YT HHI W Hulgdl Ud o+ @l I

Right number of people in right kind
3 ¢ T BT HEl W& el TR 6

Appropriate training programmes
4 % JUIAT TEET HrIEHA

Question Number : 74 Question Id : 7622115374 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which one of the following helps in placing a proper person to proper job ?

FHfeTad H BIF U Wal &fdd ®f Wal Je 9 Jowfu H dgg $Hedl & 7
Options:

Job Evaluation
1 % P HodiEA

Job Analvsis
o P [T

Job Satistaction

= F '-':FJ nr Q3|k=] -[‘;;:"J

Job Rotation
4. % B TN




Question Number : 75 Question Id : 7622115375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which one of the following is not a principle of job evaluation ?

frferfiad | | BIF-T1 FT A & fHsT 8 & 7
Options:

Principle of Discrimination
1. ¢ Ta9Har &1 HET

Principle of Objectivity
2. % TqUafTe=ar o1 fET

Principle of Selectivity
3. % FIATHDGAT BT G

Principle of Equitv and Social Justice
4. % WHET TIT AAETAG =00 B =T

Question Number : 76 Question Id : 7622115376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1

Question Label - Multiple Choice Guestion

Sensitivity training is also known as :

3 o R [ e s B 1 S B R B 1
Options:

S-group traming

1 % TH-THE Ti9rer

P-group training

]
o % Ul-AHE Hieremr

L-group training
3. % Ucl-HHE HREm

T-group traming

4« TI-HHE TIETerTT

Question Number : 77 Question Id : 7622115377 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question



Which one of the following is not a modern technique of performance
appraisal ?
Freferfad | 9 ®19 Hwee qedid= B e 9y 787 § 7

Options:

Human Resource Accounting
1. % HAd HHEH ofgd faf

300° Performance Appraisal
o> % 360° TS HedidhH

Graphic Scale Method
3. ¢ @I AU e

Potential Appraisal
4 % FHEA JeATH

Question Number : 78 Question Id : 7622115378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the tollowing is not a fringe benefit ?
FAfeTRad o | SE-91 SEI A T8 © 7
Options:

Free education to the children
1. % dedl Bl 3ed fPEm

Dearness allowance
> o HeIg 97

Subsidised canteen facility
5 % TNEIT -8 Jleaer

Transport facility
4 % TRTEA Hlau
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question
X and Y theory was propounded by :

U Ud qre (et B "fdures fEar T o ¢




Options:
Fredrick Herzberg
1. % WISH B BN

A. H. Maslo
5 % To Uo AN BRI

Porter and Lawler
3 % UleY Ud dlay 8T

Douglas McGregor
4. ¢ ST HBATN G

Question Number : 80 Question Id : 7622115380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A person who has ultimate control over the atfairs of the factory under Factories
Actis called as :
FREE! AEFTT & ST SR $ G4 Sl W A9 A0 3@ il Afed

FHEcdl B
Options:

Occupier

1 TRAEA

Managing Director
o % TET FCIT®

Chairman
3 % 3JJEIE]

Manager
4. % TLH

Question Number : 81 Question Id : 7622115381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is a machinery tor the settlement of industrial disputes in

India ?
FAfTReT H | SF-91 9vd H SA=IS [Farsi & Fuer &g uh aF 2 7




Options:

National Commission on Labour
| % FH UY T ST

Board of Conciliation
5> « FHEIT qUst

Wage Board
5 % AuIgyl AYST

Standing Labour Committee
4 % ST H9 wEQ

Question Number : 82 Question Id : 7622115382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1

Question Label - Multiple Choice Question

Which of the following come under the category of statutory Weltare Schemes
under Factories Act ?

MATIad | BIE-W1 HREMET ARTTH & = d Guliad Sedro] arersl @& a7 H
AT 7

Options:

Housing facilities
| % 3ard i BT

Transport facilities
5 % gRRged Fiaum]

Lunch rooms and rest rooms
5.« HATOT-HET TAT NH-FET

Traming
4, % TIT2TETOT

Question Number : 83 Question Id : 7622115383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the tollowing is not pre-requisites ot successtul collective bargaining ?

FAfead | W ®F 9He® dednal @ T%elal & Ja-eivg 9 787 £ ¢




Options:
Bargaining Agent
| % Wroarar AfE

Untaithful Interpretation
5 « ST ATy

Honouring Agreement
= % JHSIT @1 THEE

Reliance of facts rather than emotions
4 % AT | ATE aNaiadmar o Wil

Question Number : 84 Question Id : 7622115384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which one of the following 1s not included in retirement benetits ?
frefafaT 5 9 o gar=gRy oy 9 e 787 f&ar o € 7

Options:

Gratuity Benefits

1HWW

Social Security Benetits

5 % WTATGID [T ofr4d

Flexi-Time Benetits
5 o STl AT 4

Pension Benefits
4 % U 4

Question Number : 85 Question Id : 7622115385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which one of the tollowing is nof a level of workers participation in
Management ?

FEATCTae | @i Uaer | WEien] ATa-r & WN J/8T & 7
Options:




Negotiative

1. % FHCr

Informative

> % FEACHD

Consultative

= % ol

Administrative
4 HITHB
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Correct Marks: 3 Wrong Marks: 1
Cuesticon Label : Multiple Choice Question

The word of marketing-mix for first time used by :

Hauerd fauuH-fasor &1 JgaRon feead g 9T | aEr 1E 7
Options:

Philip Kotler
1. % fiRfeT wieen

Neil H. Borden
> « HAlolo Tdo T4

R. 5. Davar
3 ® JNo THo Sq¥

McCarthy
4 % Hepreff

Question Number : 87 Question Id : 7622115387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Social concept of marketing was given by :
[EUU & ATHT S TR0 fhdd g7 &l T3 7
Options:

Philip Kotler

1« ToBfeTg e




Peter F. Druker
2. % Ule¥ ThHo §HY

Kelly E. .
z. % Tl 3o wo

R. Mever
4 % 3No M

Question Number : 88 Question Id : 7622115388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Which of the tollowing is not physical distribution function of marketing ?

fAefefag § 9 &9 fauvs & 9if9$ f9ae & ¥ 99T J87 8 7
Options:

Transportation

1 % ORTEA

Warehousing
2. ® HeT M&MH

Storage

Retailing
4. *-.-""" :I\_‘:J '-'.,_ \_] T:'R. | q Q

Question Number : 89 Question Id : 7622115389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following is a psychographic basis of market segmentation ?

FEfefag 9§ 9 %9 arae a9y & g9d=add e 8 7
Options:

Family size
1. % TRAR ATHR

Religion
2 % Hq



Income
o W AT

Life Style
4 HTEA T

Question Number : 90 Question Id : 7622115390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

As per Maslow's hierarchy of needs, the most basic needs are categorized as :
Tl & IaTIRastl @ B AT Aifde sraeaearl FEffiEd SR goiag g ¢
Options:

Ego needs
1 % 3EY B ATTIIRA

Physiological needs
o  TNIRE TTIHI

Social needs
5 % GTHh ATaeahar

Satety needs
4 % GRe H=il SIavadary

Question Number : 91 Question Id : 7622115391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Caestion

Market moditication and product moditication strategies used in which stage of
PLL?

PLC & fobd =X0 H 19X WOR UG Iedle R &1 0T BT TART &l 8 2

Options:

Introduction stage
| % IO \AE

Growth stage
o % Ta®r A




Maturity stage
3, URUIE HI0TH

Decline stage
4 % TIRIEE Ao

Question Number : 92 Question Id : 7622115392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Caestion

Adding value to an existing brand through improving the product and its
overall appeal is called :

JAq 9108 & Hed DI geH & TAv, I H GUR Ud G GIUETd ST agl-
Options: _

Brand union
1. % gTos 9Yg

Brand extension

> #® dlUg GRISIE

Brand rejuvenation
3. ¢ GI08 PIATH A

Brand contraction
4 % HU8 Hhdd

Question Number : 93 Question Id : 7622115393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

A market in which there are a few sellers who are highly sensitive to each other's

pricj_ng and mﬂrketmg Etrategies. 15 :

U TN f9@d 9gd ®A fasdr 8d § W Uh-gay & Jod Fumer g fauuE
W L) N i - N [ L N B B i

IUHEITTAT & "id e dde-eiial 8id 8, & ®ed & :

Options:

Perfect competition

{ % YU O



Oligopolistic competition
o TCUTETRNT Wiearfia]

Monopolv

5 % UBII®R

Monopolistic competition
4 % UHTETHRIAS HITATTE]
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The communication process of choosing symbols that convey thoughts is

called :
Y U o9 & a7 9o Uigar H fa= & 9919 & Fed 2
Options:

Encoding

1« Hihiad Tl

Decoding
o, % W B Wl

Noise
= P F-”E:”Q

Receiver

4u = l—."r
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Loco price quoted includes :
Tfeld e (Loco price) § AHTT 2 ¢
Options:
Cost of good plus profit
| Tl B A WS JrE o e




All costs and charging for placing the goods nearing transportation agency
> % T BT GNGET Tui=dl & [Hde Y@= & 41 S U9 T

Cost of goods, cost of loading and freight charges
3 % TR @ AN, A Ud 9IS B T

Net price atter discount
4 % BE ® 98 g o4
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Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Question

Pricing where the tirm in industry initiates the price changes; is called :
914 #egH, SET H W B Hed gNadd B URG dYar £, B dEd 2
Options:

Leader price policy
| Fac Je I

Psychological price policy
2 % FAMSIS ToT

Skimming price policy
3. % Hcls IR Jed i

Percerved value price policy
4 % AETErE Hed I

Question Number : 97 Question Id : 7622115397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Cuestion
Concept of 3 Rs as an objective of marketing research, Recruiting, Regaining and
Retaining of customers were given by :
faUor =M & 999 & U 3Rs — (Recruiting, Regaining and Retaining) T 3197
Options:
D. G. Bakken
1 ¢ Slo Gl 989 & G




Philip Kotler
o % [Hlely BICeR & BN

D.S. Tull
3 % Slo THo T & BN

Hawkins
4 % BIIPA & W

Question Number : 98 Question Id : 7622115398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Who proposed the concept of 4Cs as elements of marketing-mix ?

fauorE M0 & oxg & WU H 4Cs B AW {HH wnad fear ?
Options:

Philip Kotler
1. % ey Preer

Lauterborn
> o Clexd™

Albert Frervy
3 % 3[eMEe ¥l

McCarthy
4 % HeBre
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Caestion

If a low price product is added in product line under product line strategy is
known as :

ITTE ¥l I & dEd W HH Jed B e, 3G Ve § qisfed @ 8
Options:

Trading up
1% 2TET am



Trading down
2« SIS ITeA

Trading extension
s % CTET TSI

Trading contraction
4 % CTET Hedw
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the tollowing is not an element of digital marketing ?

efead § 9 SH-97 fSfvea JrafeT @ o9 J8 & ¢
Options:

SEO

1 % TH T 3

PPC
o % O U7 |

Content Marketing

%z ® PO ATHST

S0OS

4. ¥ T 3T T



